SCADIETS

- MB35/ ICILEEEBE (h) ZSEATICE

- MABB] ICERELEBIC T11 ZEANDITBDCE

20195 E WHERIBHEPREFEZR ¥ x  # FMEEFE-EER . IREBE) CHERTBOARSERANICEHT B ERKE B B
Y SE EST - [ 51 B = - 6H STEl EST - [ 7H RiE =& - 8H STEl = - 9H TE =0 -
B ElER LEFAE L] a1 & = TR YELEIE SAEAE i $550BIE AEAES T LEFRE L] A ED *ED YELEIE B ALER T L]
1A 1% X FE 1 HE 6/29H4K [HES [
2 |k 2 | & X FE 2 2 | & 2 | £ 2 | A
3 | K 3|/ R N 3 3 | K 3| £ 3| X
4 | K 4 | + HEYDH 4 4 | K 4 | H 4 | K
5 | & 5| B ZELMH 5 51% 5 1A 5 | K
6 |+ 6 | # RE4R 6 6|+ 6 |k 6 |2
718 A PR 7 718 A ES 11 x
8 | A 8 | K 8 8 | A 8 | K 8 | H
9 [ & SPRAGAER T ES TR 9 6/16IziR% 9 [k HES 91 AR
10 | K RRAEER 10| £ 10 10 | K 10] £ 10 | &
11| K 11| £ H#h X $84K 11 11] K 11| H 11| K
12] £ 12] 8 Hh X $a {4 | 12 12| £ 12| # 12] K
13| £ 13| 4/274%4K 13 13| £ 13| X 13| &
14| B 14 | & 14 14| B 14 | K 14| £ XA
15| A 15 K 15 15| 15| K 151 H X EA
16 | X 16 | & Hh X Bt 16 16| & 16| & 16 | #i HEDH
17 ] K 171 % 17 17 ] K 17| £ 17 K
18| K 18| = 18 18| K 18] B 18 | /K
19| £ 19| B 19 19| £ 19| A 19| K
20| 20| A 20 2] 20 | & 20| %
21| B 21| & 21 21| 8 21| JK 21| £
22| B 22 | K 22 22| B 22| K 22| B
23| & 23| & 23 23| Xk 23| & 23|
24 | /K 24| & 24 24 ] K 24| & 24 |,
25| K 25| £ 25 25| K 25| A 25 | K
26| & 26| A 26 26| £ 26| B 26 | K
27| & Hh X %3 27| A 27 th R 2234 5 27| £ 27|k AES HARERER
28| H X FE 28 | & 28 s 28| H 28 | JK 28| +
29| Hh X %3 29 | K 29 h LR 29| A 20| K 2| 8
301 1% HhIX P2 | 0K 30 30| X 30| & 1A el |
3% 31 ] K 3|+

lllll iHiE =& g HiE =& ; E =&
FHAEH 4 5 EHKEH 4 4 EHAEH 13 14 EHKREH 6 6 EHAKEH 5 6 FHAKEH 11 11
AHAEH 4 3 AKEAKREH 7 10 ARHIAZEH 4 3 AKEAREH 3 6 AKBH®=EH 3 5 AKB®=ER 6 7
S B E BB 4 2.1 2.0 S B 3 BB 5 £ 2.0 2.0 S B E BB 1 20 20 3 B o D B 1 2.3 2.0 e S BB 49 20 2.7 o S BB 4 2.0 2.0
1K B H BHB R T 3.0 35 K B RS R 3.3 3.0 1K B H BB R T 3.0 3.0 KBRS R 1 3.4 3.0 1K B & BB R 1 3.0 3.4 1K B & BB R 1 3.0 33
10A FHE £ BREE 118 EHE EiE BREE 128 ETE =& BREE 1H EE EiE BREE 2A EtE S BREE 3A FE EiE B EREE
B[ B EHEE EGIGETE IS T =HEE *hER H|® B B B FHAKEH
1]k IRER [HE3 2 1|8 1% EATH 11 x£ il EER ETE
2 [ K 2 2 | £] 3 3 | 2 | B 2 | EAITH 2 | H Eo 3/14%4K 87
R ES 2 BEAE 318 1 3 223(-4= 31X R ELER FH K Eilaal=] 318 X
41 2 BREXS 414 1 11 “?’E‘g%% 4 | Kk 4 | = 4 |k 7K
5| & 4 1EERE 5 |k 1 1 5 | K 518 5 | K PN e
6 | B [ 1] 6 [ K] 2 2 B2 HRIT 6| & 6 | A 6 | & %
7 | B 7 &l 2 2 EZRAT 7 £ 7 |k 7% + 101
8 |k sl 2] 2 2 1S HRAT 8 | B 8 [k s [ £ H
9 | K 2 9| x| 3 3 BERIT 918 9 | K 9| H A KEKER
10| K 2 10| B 1 1 10| X 10| £ 10| A X ETEl
11] & 2 1] AL 2 2 2R 11| K 1] £ 11| %4 7K
2] SBXE 12| X i 1 AES 2] 8 12 | 7k X 72
13| B EfaTE 13 K] 2 2 13| & 13| # 13] &K E
141 #4 ABEDA 14| K] 2 2 14| £ 14| Kk 14] & S ETS
15| & 5] £ 2 2 15| 8 15 | 7K 15| £ B
16 | K 2 16] £] 3 3 16| A 16 | & 16| B A 85
17| & 2 17| B 1 1 17|k 17] & L a—H 17| B W
18| & 2 18] Al 2 2 18 | K 18] £ e | 18| K 7K
19 ] £ 3 19] &k 1 1 19| K 19] A | 19 | JK PN RKEBEE
20| B [ 1] [ 1] 20| k| 2 2 20| £ 20| A 20| K B EHiE
21| B 21| K 21| + BEFRRES 21 | K 21 | & +
22 | 41 [ 1] N EIrE 2| & 22 | B 22 | 7k 22| £ H 159
23| K 2 23| % 23| 12/21 XK 23| & 23] 8 A
24| K 2 24| B 24 |k 24| & 24| $ X =4
25| & 2 251 B 25| K 25| £ 25| K 7K
26| & 3 Zh5xd (26 % A ES 26| B 26 | K x 186
271 8 [ 1| [ 1| 27 | & 27| & ZEKRE~ 27| A 27| K &
28 | A I ES 28 £ 28 | X 28 & Ee
29 | X [ 1] [ 1 29| & 29| B FAFHE 29 | K 20+ B
30 | K 30] £ 30 | 2 EAFF 8 30| K A
31| K 2 Ny 31| FTH KIS X

..... [ET] T IEl =i [ET] & ; i &
HHRER 4 4 THARZH 10 10 EHEREH 5 5 EHARZEH 5 5 LHKEH 9 i0 THARZEH 1 21
[IN=L7 S = 6 7 KEHKREH 7 6 KEAREH 8 8 KBAZEHR 10 10 KBH®R=EH 8 10 KBEAZEH 6 10
TH R R 2.0 2.0 I BRI 2.0 2.0 TH R R R 20 20 T H R T 2.0 2.0 TH B T 20 2.0 T & B R 2.0 #DIV/0!
KB R BRI 3.3 3.3 KRBT 3.0 3.0 KB RIS 28 25 KB EBRRETY 3.0 3.0 KB E BRI 3.0 3.0 KBRS 3.0 #DIV/0!




